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g]kfn lzIfs dxf;+3sf] cfXjfg\df xfn b]ze/sf lzIfsx? cfkm\gf] sd{ynf] ljBfnonfO{ 7Kk kf/L sf7df08f} 

s]Gb|Lt ;8s cfGbf]ngdf /x]sf] laifon] xfd|f] kf6L{sf] uDeL/ Wofgfsif{0f ePsf] 5 . 

 ljBfnonfO{ zflGt If]qsf ?kdf ?kfGt/0f u/L ;a} ljBfyL{sf] k9\g kfpg] Pjd\ afn clwsf/sf] 

;Ddfg ug'{ cfhsf] cfjZostf xf] . lzIfs ;d'bfosf] cfGbf]ng /x/ geO{ afWotfsf] pkh /x]sf] 7DofO{ xfd|f] 

5 . t;y{ lzIfs Pjd\ ljBfno sd{rf/Lsf Gofof]lrt dfux?nfO{ cljnDa jftf{ dfkm{t ;Daf]wg u/L 

;d:ofsf] ;dfwfg u/L lzIfs Pjd\ ljBfno sd{rf/Lx?nfO{ ljBfnodf kms]{/ pT;fx Pjd\ pd+usf ;fy sfo{ 

ug]{ jftfj/0f l;h{gf ug{ xfdL g]kfn ;/sf/;+u hf]8bf/ dfu ub{5f} . 
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